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An item — S1np KD NINUWS ONORT RNPOR
which is applicable by other documents he does not mention

OVERVIEW

The X713 maintains presently that the similarities between W) QW1 "3
0°72v that the Xn»12 mentions (including MR27y 709) are limited to those
similarities that are exclusive to 072y 1YY 2°w1 V3 and do not apply to
other NM1Mvw.

The mwn states' ‘all MW that are cleared by nX>1Y are 7w except for 1"3
y"wY'. The X3 there assumes this W37 to include 7i1nn ww as well.
Therefore the X713 asks how can NMX37Y be 2w by 7inn vw. There are no 7Y
X" to effectuate the 1ip. When a 10w is just for proof - 7°X17, then mX>w
can be *w>; but how can N7y make a Pi1p! The X3 there gives two
(seemingly conflicting) answers which are mentioned in this n19oN.

Mmoo asks:
= (3,597 )79 YWH9175 NINN 90 RNON MHINIIYT NDID NN 9NN ON)
And if you will say; but the 105 of MX>7» which is mentioned in the Xn»12
concerning 0°72y >TINWY 0°W1 ) is applicable by a min» auw, as the X
interprets later’ the mwn of mx>7; that when the 73w states that MX97Y are w5 by
all MvW except °w1 V7, it really means that X3y are Tw> by Mvw that are only vw
TR —
- DOV SV N
Excluding the validity of mx27y from any nmnuw similar to *asws "w9s; in the
sense that WX v3 is a PP 0W. The 7109 of MR extends to all >11p *ww. This refers to

mann oW as well; meaning that NIRDIY 9109 is a MVWA °PNPRT XN2°71, for it applies to W
mann as well. Why therefore do we include the N7y 2109 in this Xn*92?

N1B0IN answers:
119P91 NWY TR 920 *xnwnT a5 v

P9y q7.

> We deem the N7 to be honest.

? The X later questions how we can say that besides 072y *WInw 0°w1 *v, in all other cases MR are
qw3; how can they be 2w> by n1nn quw?! The 1°3p cannot be 71 without 2xw° *7v.

* MR are not valid by 1717 "vw. This includes o°w1 v 3 as well as 7inn VW

> The 2w>71 of MKW according to this view is limited to 7°X1 ™Mvw only; such as a 19 VW or Mv» Y.

® At the conclusion, the X3 will give a different criterion as to what types of similarities are included in
the ®n>72. See (°"10) TRA R"wAIn. See also 7"R2 7"7 oW R"WAAN 00 AT R, 'O,
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And one can say; that at this point the X723 is of the opinion like the
other answer that the X 3 gives later. The x 3 there in the other answer
maintains that NX37Y are valid by 7101 0w (as opposed to DWw1 *v)), since XMIPAT KT
X7, even by a 1"1p Tw. Therefore the 2105 of MKX37Y is only by 072y *nw 2°w1 ") and
not by other MW including 71nn W

SUMMARY

When the X773 states that the similarities between 2°72y *NINYY QW1 *v) are
limited only to those similarities that do not apply to mI0w Rw, the XA
will have to assume the view that by 710 0w there is no 2109 of MX>7y. The
X713 at this point cannot assume the view that since 71nn WY is a 7P OV
therefore NIX>7Y are 7109.

THINKING IT OVER

mMoon obviously knew in his question of the other view in the X7 ni later;
namely that by 71n» 20w there is no 109 of NMX>7y; what was the question in
the first place?’

" See (1"7v) in 21 MK "9
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